Answers to Proficiency Exam


1) 
x² - x = 12

x² - x – 12 = 0

(x – 4)(x + 3) = 0

x = 4; x = -3

2)
2x + y = 15; Given: y = 5

2x + 5 = 15

2x = 10

x = 5

3)
(x + 2)² = 0

(x + 2)(x + 2) = 0

x = -2
1. Tim, the otolaryngologist, has an oil leak.

2. I started to write an essay for school; however, I did not have time to complete the first page.

3. Go to the store, and pick up the following items: cheese, milk, and honey.

You are able to translate Spanish to English on the home page of AmbitionsInc.com by clicking on the dictionary link.

1)
 A = .40(40)

A = 16

2) 
.40 = .01b

40% = B

3) 
100/9 = 11.11

It is important to understand how to do simple division, write complete sentences, and think analytically. Throughout the day, we are required to make calculations (e.g. before drops). For this reason, we appreciate accuracy.  In addition, try to remember a few keys phrases in a foreign language; in some regions it is almost impossible to sale without being bilingual.

We wish you great success, and will help in any way possible.
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